Sample outcome from SFEcon’s general price equilibrium algorithm:
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Fig. 1
Profits p earned by industrial sectors 1, 2, & 3. . .

1. total the shortfall p of wages to cover consumption by household sectors L & N
that must be made up by passive investment income; and

2. equal the interest rate times the money equivalent of a sector’s physical asset
turnover.



Riq =Yy

Rz

Rz

R4

Ry

Riz

R £

Rzz

Ri:

Ryz

- PiRyq

- PiRyq

- PiRyq

+ Py

+ Py

R+

R+

Ri1+

Rt |

R+

.R31 L

Rz

Rzz -Y:

Rz

Ryz

- P:Rs:z

- P:Rs:z

- P:Rsz

Rg: +

Ry
Ra:+

R+

Rz |

.R32.-

RiL Rin
RaL Ran
Rz R:n

Ri-T, Rin

RuL Run—-1Ty

- P:Riz - PR - PuRin }
- P:Riz - PR - PuRin }
- P:Riz - PR - PuRin }

5

+ Py PR13+- +P. PR1|_+- + Py rRm*

Rsz | (RaL (Ran

+ Py[Ryz+| + PL[Ry+| + Py PR'IN*-
R+ Rz + Ron+| [
L= L= |Ran |

Rz Rz + Ren+|

Py

P:

P:

PL

Py

HCL

Fig. 2

Fig. 3



